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M
ECONOMICS - Paper 11

(Macro-economics)
(Admissions of 2005 and onwards)

Time : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this
question paper.)

Note : (i) Answers may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

(ii) The maximum marks printed on the
question paper are applicable for the
students of the regular colleges (Cat. ‘A’).
These marks will, however, be scaled up
proportionately in respect of the students of
NCWEB at the time of posting of awards
for compilation of result.
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Attempt any five questions.

All questions carry equal marks.
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Discuss the estimation of Gross Domestic

Product using output method.

Is Gross Domestic Product a good measure
of national well being ? Explain.
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Explain the Psychological law of
Consumption.

Define APS, APC, MPS and MPC. Show
the relation between MPC and MPS.
(Where, APS is Average Propensity to save,
APC is the Average Propensity to consume,
MPS is Marginal Propensity to save and

MPC is the Marginal Propensity to
consume.)
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Given, Consumption (C) =100+ 0.8 (Y-T)

Government Expenditure (G) = Rs. 1000 Crs

Investment (I) = Rs. 500 Crs

Taxes (T) =Rs. 40 Crs

Exports (X) = Rs. 20 Crs

Imposts M) =10+ 0.1 (Y-T)

Find ;

(a) Equilibrium levels of income, consumption
and savings.

(b) Value of disposable income and net
exports. 15
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Show the derivation of Aggregate Demand
Curve. Discuss the factors causing shifts in
aggregate demand.
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What is money ? Discuss the reasons for holding
money.
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Explain IS-LM curves. Show the equilibrium
using IS-IM curves. What happens to
equilibrium if government expenditure rises ?
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How is exchange rate determined ? Discuss the

factors that can change the exchange rate
between two currencies.
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Write short notes on any two : 75

2!
(a) Quantity Theory of Money (QTM)})
(b) Speculative demand for money
(c) Credit creation in a single bank economy
using ratios approach,
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